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データ（１列目　国語の成績、２列目　数学の成績）

A=[100 80; 70 30; 30 50; 70 95; 40 60; 70 65;20 30]

A = 7×2
   100    80
    70    30
    30    50
    70    95
    40    60
    70    65
    20    30

分布図

scatter(A(:,1),A(:,2))
xlim([0 100])
ylim([0 100])

偏差のデータ

X=[A(:,1)-mean(A(:,1)),A(:,2)-mean(A(:,2))]

X = 7×2
   42.8571   21.4286
   12.8571  -28.5714
-27.1429   -8.5714

   12.8571   36.4286
-17.1429    1.4286
12.8571    6.4286

-37.1429  -28.5714
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グラム行列

X.'*X

ans = 2×2

103 ×
    4.7429    2.3714
    2.3714    3.5357

グラム行列の固有ベクトル

[V,D]=eig(X.'*X)

V = 2×2
    0.6137   -0.7895
   -0.7895   -0.6137
D = 2×2

103 ×
    1.6923         0
         0    6.5863
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